Lecture 4 - January 16

Limitations of Experiments
Primitive Operations (POs)
Counting POs: findMax



Announcements/Reminders

e Assignment 1 released

e Office Hours: 3pm to 4pm, Mon/Tue/Wed/Thu

e Contact Information of TAs on common eClass site

e splitArrayHarder: an extended version coming soon
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Example Experiment

Computational Problem:
o Input: A character ¢ and an integer n

o Qutput: A string consisting of n repetitions of character ¢
e.g., Given input Y+’ and 15, OUIPUL * % % % % % % % % x % % * * .

Algorithm 1 using String Concatenations:

public static String repeatl(char ¢, int n) { = /M
wéy = answly
String answer = ""; /ms 6/ "/ 1" C
for (int i = 0; 1 < n; 1 ++ answer += c; (Va
( i 1 1 i % }ﬂﬂﬁ"’&'k

return answer; }

Algorithm 2 using StringBuilder append’s: c

public static String repeat’Z(char c, int n) { /17////(.
StringBuilder sb = new StringBuilder(); Lnsw 8/

for (int i = 0; 1 < n; 1 ++) { sb.append(c); }

return sb.tostringl(); |
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Example 1: Counting Numbef of Primitive Operations

int findMax (int a, 1
currentMax iG]z 2 74 L
for (int 1‘ L m)%{g

if (a[1i])(>) currentMax)
currentMax(=)al[i); }

currentMax; } l

= & \b/# of times i < n in'Line 3 is executed?

A tames (N[ daes ten @) 5 1 zap (m@)
Q. # of times loop body (Lines 4 to 6) is executed?

N-| Ames ({/l - L



